PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
5th August 2016, 12:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

In the following question, some group of letters is given, all of which, except one, shgre a
common similarity while one is different. Choose the odd one out. / & ug ¥, PO T &
g 33 T &, St @fl, Paa U 3! BieH, THH § wafe TP e 81 fuw 9 @) g

e XW

* FG

e ML

e PO
Correct Answer :-FG
2)
Question Stimulus :-

This person was the first Indian recipient of the prestigious Nobel prize. / Ig e PIGIEG] ICG] IREDR BT
AT HIRATT WToaahat AT

® Mother Teresa / HaY gl

e Rabindranath Tagore / IS=1Y TR
¢ CVRaman / M & 1=

® Amartya Sen / A 9

Correct Answer :-Rabindranath Tagore / Ifq=ATY &MY

3)
Question Stimulus :-

‘National Doctor’s Day’ is observed on the birthday of ___./ P10 fafbeaes feaw ___ & S-wfeay W 9=
SITdT 81

® Dr. Harsh Vardhan/ ST. Eﬂa‘i&f

()



® Dr. Devi Shetty/ ST. gal Qg
e Bidhan Chandra Roy/ fqm 9% Ig

® Debendra Pradhan/ éﬁ?jwﬁr

Correct Answer :-Bidhan Chandra Roy/ fe9 9% I

4)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / 98 fageu

ghg,Siah s IR Re T HsH & 0 2

If you are appointed, then you will receive an offerletter. / af¢ 3 fAged gid §, < siue! uwa@
U R

e If you haven’t received the offer letter, then you are not appointed./ﬂﬁ 3TUH| YdTd U

¢ fire 8, <) 3y fgea TE gu B

e If you are not appointed, then you will not receive an offer letter./ &Pﬂaﬂqﬁ'ﬂﬁﬁqﬁﬂ
&, i MUY TRara v Y frdmi

e If you receive an offer letter, then you are appointed./ amemﬁwuaﬁam%, GIRCIL

frgw ge sl

e If you receive an offer letter, then you are not appointed./ am?arrqaﬁuwauaﬁm%, a

3 g T8 gU B

Correct Answer :-If you haven't received the offer letter, then you are not appointed./‘qﬁ

3ATUh) TTd U T8l e 8, ot oy fFgea T gu &)

5)
Question Stimulus :-

A and B are planning to meet each other after office. A can leave office between
5:30 to 6:00 while B can leave office only after 6:00. A takes 1 hour by bus or
30 minutes by cab to reach the meeting point whereas B takes 30 min by bus
and 15 min by cab to reach the same. / A 3R B ¥Ry ¥ 9 TP gaR o @ &1 dieEr a1
8 &1 A 5:30 3R 6:00 9 & I AT SIS GHdl &, TaP B $Id 6:00 T & dI¢ PATEYT BIS JHdl
21 A &) Tasd R 96 99 S UgTH § 1 HeT avrar ¢ a1 30 fiFe it & @va @ 9afd B & i ™A )
Tga # 30 fiFe 99 ¥ ok 15 e it § @ g1

B knows that A would leave at 5:30 and will take a bus. When should B start from his office such that he can start as

late as possible and does not spend much time on traveling? / B W%%AS..’.OE@TWQWW
R T AM| B H SHhw A fva awg Frwamn wifay, % ag e dya 8 3a-1 R A Foa sk amn o
STl IHY A |Iy?

® 6:00, Bus / 6:00, 99
()



* 6:15, Cab / 6:15, ¢l

® 6:15,Bus/6:15, dH

* 6:30, Cab / 6:30, SRt
Correct Answer :-6:15, Cab / 6:15, 2&Rit
6)
Question Stimulus :-

Which one of the following refers to the first nuclear reactor of India? / frrafafaa & S &9 91 YRd &1 ugan

WAy FYugeR ¥ fig deffa o &2
Rohini / iﬁ%—uﬁ
Urvashi / B'éslﬁ

Apsara / STGHRT

Kamini / STHAT

Correct Answer :-Apsara/ 3{GIRI

7)
Question Stimulus :-

If the bread is toasted and mayonnaise is spread on it then either I will go hungry or I will

have acidity. I am hungry so mayonnaise was spread on the bread. / ¢ 38 &I aike foar siar

? 3R 3T TR VAT T SIar g o a1 F T I8 A a1 gt vhifed 8 st & man § swfie fanw
IS TR ST AT AT

e True / I8!

* False / Teld

e Maybe / Bl IHdr §

e Irrelevant / WRIfI®

Correct Answer :-Maybe / g J&dT @

8)
Question Stimulus :-

The southernmost tip of India is / HTIRd BT I&UTTH ﬁ'g" g

(4)



® Rameswaram /QTe[%RT[

® |ndira Point / gﬁﬂ Wrse
® Trivandrum /ﬁa?q

® Kanyakumari /E’TQ'I@TTI'\&

Correct Answer :-Indira Point / §f¢3T WIgc
9)
Question Stimulus :-

Where did Mohammed-bin- Tughlaq shift the capital of the Delhi Sultanate to? / 'Fﬁm-ﬁ:f-w = feeit
Fedd PI IASTUT B ol RITTaRa fooar or?

® Nagpur/ dNTYR

® Bhopal/ yiurer

* Daulatabad/ FAATTG

® Yadgir/ YRR
Correct Answer :-Daulatabad/ GIEdTaTG
10)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg faweu qﬁq
St fow U Sy Td el & TR § 98 2

Statements: / ®Y:

All advertisements are serials / I fAgU= yRIAe® &
All serials are movies ;/ 94l YR@ENRS fed &
Conclusions: / fr=pd:

I. All movies are serials / gt feed ’irR'IHT%iF %

II. All advertisements are movies / 94 fagmu= foedt %
® Only conclusion I follows / Wﬁr&ﬁﬁ" I Freerar %
® Only conclusion Il follows / Pad ooy 1| frear @

® Both conclusion land Il foIIows/ﬁI’Wﬁf I 3R II E‘ﬂ:ﬁ' frpad %
(5)



® None of the conclusion | or Il follows / foreed 1 a7 11 ® @ ﬂ'ﬁ_sr' T-I'a Freear %
Correct Answer :-Only conclusion Il follows / Fad ey 1 Freear %

11)
Question Stimulus :-

IRDA of India regulates and develops __ industry in India. / HIRd BT 'aﬂéarr?@ﬁ@ YRa o _3?]:\'" CAREIEG]
3R fyshaa oear g

® Banking / dfr

® Investment / fHa=T

* Mutual Funds / T3 g

® Insurance / ST
Correct Answer :-Insurance / §1HT
12)

Question Stimulus :-

In the following figure, rectangle, square, circle, and triangle represent the regions of
wheat, gram, maize and rice cultivation respectively. / 7% 3rpfa &, smad, o, g Sk Ao
HURM: g, T, HGPHT 3R Tad DI H1Y & &1 DI g=0id B

Which area is cultivated by all the four commodities? / & &3 & 39 9t IR aggan &t
S gt 2

e 7

(6)



Correct Answer :-7

13)

Question Stimulus :-

The only President of India who had two terms in office was / HIRd %Wﬂgﬂﬁfﬁﬂﬂ Praad A Eﬁ Srafy
Ut

® APJAbdul Kalam / T 0t & 3fegel Heird

® S.Radhakrishnan / @ XTUTH T

® Pranab Mukherjilm'ﬂﬁﬁﬁ

® Rajendra Prasad / TS5 TRITG
Correct Answer :-Rajendra Prasad / I UATS
14)

Question Stimulus :-

Born as Mahesh Das, this man became one of the nine jewels in Akbar’s court / 'FI%'QT o HEUH Trl:ﬂ:, g

AR PR P GRAR & qdRdl A ° TP T41
® Birbal / dRe@
* Tansen /AT
o Faizi / Toit
* Raja Todarmal / ITSTT TIe¥HA

Correct Answer :-Birbal / §IRdd

15)

Question Stimulus :-

Anurag introducing a girl in the party, said, “She is KP, the wife of Shomik. Shomik is the grandson of my mother”. How

is Anurag related to the girl? / GlﬂTﬁTeﬂTI'c“fﬁ wasaﬁa?ruﬁaam U Pel, "ugaﬁmaﬁqaﬁ, F.4qt. %l
MY B 0T &7 VAT 21" SRTT aSH! A Jefea g2

(7)



Husband / ufa
Father / ILGI

Father-in-law / J{X

Grandfather / GIGI

Correct Answer :-Father-in-law / I

16)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fowe
gig, ot ad @1 =R I 7 e T $y= F TuE @

If it is an excel file, then it is not a word file. / If¢ U8 T TR BI5d &, <l I8 TP IS BIsd T8l

gl

If it is a word file, then it is not an excel file. / af¢ 98 UP g8 BISd g, d Ug b TRd
LIECEE

If it is% not a word file, then it is an excel file. / ¢ U8 TH 98 BIsd 8l 8, ol g TP TRd
B g

If it is not an excel file, then it is a word file. /ﬂﬁﬂ?@@ﬁmqﬁ% Fﬁﬁ@ﬂ'&"
LaEC R

If it is not an gxcel file, then it is not a word file. /H‘%WWQ@HWH@T& ?ﬁTs’
T& 98 B13d T8l ol

Correct Answer :-If it is a word file, then it is not an excel file. / If¢ 9% UP 98 BISA g, a1

I% TS Uad WIgd el o

17)

Question Stimulus :-

Which of the following towns of Madhya Pradesh has one of the 12 jyothirlings of India? / rafarea "\’Eﬁ )
A YN BT 98 DI AT WY §, T8l HIRA & 12 AT § A TP g2

Orchha / 3BT

Maheshwar / 'FI%‘IR'

Omkareshwar / GﬁWﬁ%’\"
Khajuraho / @w

(8)



Correct Answer :-Omkareshwar / m’d\"

18)
Question Stimulus :-

1. Six flats on a floor in two rows facing north and south are allotted to P,Q,R,S, T and U. /

TS AT TR B: Wie SR 3R Sfér & 4 arell §f ufeal # P,Q,R,S,T 3R U &1 3rifed fre 3 €1

2. Q%gets a north facing flat and is not nextto S. / Q ﬁﬁ?ﬂ@ﬁﬁ? ﬁlﬁT%, S S & I areT
T8 Bl

3. S and U get diagonally opposite flats. / S MR U
ot fawola :wwa wae i 7

4. R next to U, gets a south facing flat and T gets north facing flat. / R U Ena%, &1 gfgmr
T Wi e § iR T &) S<R gl wie e g1

The flats of which of the pairs other than S and U, are diagonally opposite to each other? /

S 3R U & 3d1al 3/ I 4 Wiie & e fasuld 9 82
« QP
* QR
e PT
e TS
Correct Answer :-QP

19)

Question Stimulus :-

The temples of Khajuraho are built of . Wﬁf Cg 'Fl'ﬁ'\"_'\ﬁ faffa %I
® Marble / HTHIHR

® Sandstone / 3T URR

® Bricks / g?

® Black soil / PTelt fHET

Correct Answer :-Sandstone / I3 TR

20)

©)



Question Stimulus :-

The jumbled letters of words are given below. Each letter has been humbered. Choose the
option which gives the correct order of the letters as indicated by the numbers to form

meaningful word. / <l & AR &R A 2T 10 &1 Ud® 3r&R 1 SwWiferd fbar war g1 98
fawer gHa <t O =g @t T & A TEmel ¥ U # 3ieRl &1 WEl wH T g

RUSGA

12345

e 1,54,2,3

e 3,24,5,1

* 4,53,2,1

e 5,3,4,1,2
Correct Answer :-3,2,4,5,1
21)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose
the fourth term from the following options which has a similar kind of relation with the

third term. / 79 Uy 8§, Ugd < 13l & v Pt v € 91 Y9y 1 Py Ao § & 9yt ug gl
ST T ue & 1Y I UPR F1 "9y 2

JTIS : HRGQ :: FPEO : ?
® CNDM
®* CNDQ
® DNCM
®* DCNQ

Correct Answer :-DNCM

22)

Question Stimulus :-

Rihand multipurpose project will supply power to / fe< a@@a’@’q ufegierr e | ifea &t Gfrgﬁ SN
® Southern parts of Madhya Pradesh / H& TSR & SI30T U |

® Northern parts of Madhya Pradesh / HH USRI & ISt YT |

(10)



® Only Orissa and Chhattisgarh / Had 3@?1 3R m

® (Central parts of Madhya Pradesh / H¥ U & U YT
Correct Answer :-Northern parts of Madhya Pradesh / HH SR & Iast HIT H
23)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe T;{ﬁl'l:{
st T T By wd Fremul & R & 9E R

Statements: / YH:

All actors are heroes / T M R &

No actor is handsome / @13 3fidr ax 8l &
Conclusions: / fead:

I. Some actors are handsome / 99 CIREGI '\33?%

II. Those actors who are not heroes are handsome / KRR ECIGINED Hé’f% | W%
® Only conclusion | follows / Had ey 1 fAeaar %
® Only conclusion I follows/aﬁﬁﬁwﬁf I Freeedar %’
® Both conclusion l and Il follows/ﬁwcf I 3R II aﬁ}f frped %
® None of the conclusion | or Il follows / freed 1 a1 11 ® @ aﬁ's‘ T'I%’f IECNGI %
Correct Answer :-None of the conclusion | or Il follows / ﬁ'@ﬁf 19T II | '\Q ?ﬁé' T'Iﬁ IECINGI %

24)
Question Stimulus :-

Find the word that represents the category of the following three words. / 98 e JId Hiod
<t g i =il @t Aot &) gxifar 3

Aeroplane, Train, Truck / §dI3 W8S, YS!, TF
® Speed/ fa
® Rooms / W
* Wheels / Ufgd
® Transport/ ufvagq

(11)



Correct Answer :-Transport / ufas+

25)
Question Stimulus :-

Following are the three positions of a cube. / Y- @1 a9 Rufea g ver @ %'l

TOM RON
M T
JACK TOM
1%t view 28d view
RON
EAL MEL
3 view

What is the name in the face opposite to the face having name RON? / RON -ITH & Pa® P [TURId Bod R
79 82

® NEL
* JIM
® NEAL
® NONE

Correct Answer :-NONE

26)
Question Stimulus :-

Six persons A,B,C,D,E and F were playing a card game. A’s father, mother and uncle were
in the group. There were two females. B, the mother of A got more points than her
husband. D got more points in the game than E but less than F. Niece of E got the lowest
points. Father of A got more points than F but still could not win the game. / 3% Hfed
A,B,C,D,E 3R F U% X &1 Wd T ¢ ¥ IYg # A & U, wrar iR = A1 & uigeng i A & 9 B,
B AT Ul I gF 3 AT U §UI W § D Hi E A 3HUF W F A F 3% YT gLl E BT Uioh &I &
P 3P U g1 A & U1 &1 F 9 31 3i% urad g€ W = off 98 @ 781 oild 9& |

Who stood second in the game? / @d ¥ fgdlg ™ fFa ure fear

° A
(12)



Correct Answer :-C

27)
Question Stimulus :-

Which branch of Archaeological Survey of India maintains gardens in different parts of the country? / YR

TRTA TAGUT Pt DI Y AT G/ P FIfUsr U & Iem=if &7 SrgRefor st 82
® Horticulture branch / SRTATAT RITAT
® Pisciculture branch / HS T UTer IRl
e Sericulture branch / YT ITG AT
® Apiculture branch / qw UTelT RTET

Correct Answer :-Horticulture branch / STTATHI RAT

28)

Question Stimulus :-

Matangeshwara Temple is locatedin ./ 'FI_cI'Pf%R' 'FlﬁT _ o R %I
® Khajuraho / EER'I?’[
® Chanderi / ﬂaﬁ
e Seoni/ Ryai
® Amarkantak / 3THIYDCH

Correct Answer :-Khajuraho / @RT8!

29)
Question Stimulus :-

About 48% of total traffic on all the ports of India is being recorded on the ports of

./ HRAd & G4 GEATET BT 48% Pl Frarard & SISl R gof foam T B

® Gujarat / J[oRRTd

(13)



® Andhra Pradesh / GIT?I'FI%QT

® Maharashtra/ II?'RTg
® Karnataka / FI'TE?F

Correct Answer :-Gujarat / JoIRTd
30)

Question Stimulus :-

Who was the Constitutional Advisor to the Constituent Assembly? / TFIU™ IUT & ﬁt{' Taurfe TATghR
DI U2

* Dr.Ambedkar / SFISH

¢ Dr.Rajendra Prasad / 1.3T5i% UG

® Jawaharlal Nehru / SIdigX <lTd ﬁma

* B.N.Rao/ &t GI¥TE
Correct Answer :-B.N.Rao / §f T 319
31)

Question Stimulus :-

A class of boys stands in a single line. One boy is nineteenth ip ordgr from both t!'le e_nds.
How many boys are there in the class? / &l & 513% Th HdR x| E% %l Th dShl 1 BRI & %H
# IS ®IM R WST 81 wel # fran dasd 32

e 27

* 37

e 38

e 39
Correct Answer :-37
32)

Question Stimulus :-

Anitha ranks 9" from the top and the 5th from the end in a class of students. Find out the

total number of students in the class. / T® H&T & DI § I BT SHUR A QTfo'UﬁWE's: 3R
Sifaw | 5df 9o urw g1 I B [, Fem A v fFaq v T

(14)



® 15

e 12

* 13

* 14
Correct Answer :-13
33)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fove ﬂﬁT{
<l fau T Y= vd fAspul & 9 | 98l 2

Statements: / ®Y:

All scooters are vehicles / Ht IhHer digH %
Some cars are vehicles / 9 PR AET &
Conclusions: / femd:

I. Some scooters are cars / PO T P %
II. Some cars are scooters / O ﬁw%

® Only conclusion | follows / FHad ey 1 Apadr %
® Only conclusion Il follows / Wﬁw& il feremear %’
® Both conclusion land I follows/ﬁw I 3R II 'q;Fﬁ IBCZNG %
® None of the conclusion | or Il follows / foreepd 1 a7 11 ® @' a'ﬁ'é' T-Iﬁ' Frodar %
Correct Answer :-None of the conclusion | or Il follows / e rarIIa g T:I'ﬁé ERBGEZSGI %

34)
Question Stimulus :-

Which of the following corresponds to the lowest rank in the context of the Indian parliamentary system? / ﬁfH =k

P T YR SIS yourred & Yo & Iad &1 9ot & JH= glar 82
® Minister of State with Independent Charge / WHW%'\‘T{%{W@
® Minister of State / I /A

® Deputy Minister / IUHA

(15)



® (Cabinet minister / L IE qHo™
Correct Answer :-Deputy Minister / 3 {31
35)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faTe
ghe, S ab sl I TR Rew sy & a2 -

%f you are an actor, then you can act well./ 3R 3 TF ARAdT g, a1 37 3371 AT FT IPHd
|

e If you cannot act well, then you are not an actor./ 3R 319 33T &@Wﬂﬁwm%
<t 379 T SFUAaT T8 B

e If you not an actor, then you cannot act well./ 3R GTNWGlﬁ-IﬁHTT(ﬁ%, a3 =31
SAFUTT T8 B TP B

e If you can act well, then you are an actor./ 7R 31U 33T aﬁ\wwmﬁ, I 3MI TH
=T g

e If you cannot act well, then you are an actor./ 3[R 317 33T a{f‘mqﬁwmi a
3T T Sif=ar 7l

Correct Answer :-If you cannot act well, then you are not an actor./ 37X 3[4 33T

S T8 B Fhd €, a1 31U T ATYAdT 781 2

36)
Question Stimulus :-

What is the day on 8th November 1995? / 8 d&RX 1995 cakac a1 fea %?
e Monday / THAIR
* Tuesday / HI@dARR

* Wednesday / §YUdiR

® Thursday / T3dR

Correct Answer :-Wednesday / §YdR

37)

Question Stimulus :-

(16)



First Indian Woman to win a commonwealth gymnastics medalis ___ ./ TI'EFIST‘I' s o Ugd Sita= arett
Ugdt WRdg Afgenr g1

® Deepika Kumari / Eﬁﬁﬁ?{ m
® Jwala Gutta / SAT¢ll &I

e P.V. Sindhu / ULt fig

® Dipa Karmakar / ST HRETHR

Correct Answer :-Dipa Karmakar / &9l HRHTDH

38)
Question Stimulus :-

is the first private sector hydel project in the state of Madhya Pradesh?/ __ HYI ST IS | gal feit

& o1 wa-fagaa ulvaierr 81
® Pench Hydel Project/ﬂ?ﬁﬁ-ﬁgqﬂ uf ST
® Rajghat Hydel project/ Wﬁlﬁ-ﬁgﬂﬁ UIECITET]
® Maheshwar Hydel project/ 'FI%%R Trl'ﬁﬁ'gﬂ'él LIECITE]

® Birsinghpur Hydel project/ ﬁ?ﬁ’l@'ﬁ?ﬁﬁ-ﬁgﬂﬂ uf ST
Correct Answer :-Maheshwar Hydel project/ 'FI%’IR Gm-ﬁguauﬁ“tﬁw

39)
Question Stimulus :-

In which session of the Indian National Congress was it decided to declare Poorna Swaraj / YR TI'@'CI m"ﬁv

& fora siftaz™ & yof Tavrer i &= &1 e forar am o1
® Lahore session / @GR SATYARH
® Madras Session / TSTH STUARA
® Surat session / gd SATUARE
® Haripur session / SI¥UR QAR

Correct Answer :-Lahore session /?ﬂ“&ﬁ? i@z

40)

Question Stimulus :-
(17)



Commonwealth Games was held in Delhi in the year ?/ TI'ETET‘I [l BT Ao feeedt ag o
BT AT

® 2010
®* 2012
® 2008

* 2014

Correct Answer :-2010

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

A number consists of two digits. The digit at the tens place is two times the digit at the unit
place. The number formed by reversing the digit is 27 less than the original number. Find

the original number? / T% TXAT & 3i®] A T T+ 81 SBT3 FT 3P FHIE & 3P A AT 81 3P Bl
IEPIAT HIP T TSI YIS | 27 $U g1 ga e Heifig?
e 33
° 43
* 53
* 63
Correct Answer :-63
2)
Question Stimulus :-

If 5234 is encrypted as ‘RING’ and ‘6109’ as FAST how will 095234 be encrypted? / af¢
5234 &1 ‘RING’ ¥ THfhy forar a1 8 3 6109’ &1 FAST ¥ T4fhy far 741 €, 99 095234 &1
THfp e fear sramm?

STRNIG

NGRIST

STRING

STRIGN

(18)



Correct Answer :-STRING

3)
Question Stimulus :-

In how many ways can 8 flowers of different colors be arranged into a garland? / fAfm 3me 8 W Cal PRI
(FR) ¥ freq ool S afyd forar o1 a&ar 32

® 2880

® 2520

® 5040

e 3780
Correct Answer :-2520
4)

Question Stimulus :-

Complete the series choosing the missing humber: / ﬁ@r—r =T gAPR gl ﬁIBT DI :

1,5,14,30,55,

* 93

L |

* 90

° 92
Correct Answer :-91
5)

Question Stimulus :-

A thief steals a car at 10 am and drives it at 60 km / hr. The theft is discovered at 11 am and the owner sets off in another car
at 75 km/ hr. When will he over take the thief?/ T iﬁ?ﬁﬂ'{?’ 10 9 TH DR Gl YRIP I 60 FPEeT BTl A @
WTaT 81 TR & 9R § Gag 11 991 U1 Il § 3R SR &7 qiferds 75 fhlder 3t 1fd S Ue gkl $R A IR 3t
Uohed Noadl g1 98 IR &) Hd THS?

® 12 noon/ IUER 12 T

® 2.45 pm/ GIUER 2.45 TS

(19)



* 3.00 pm/ EIUER 3.00 TSI

® 1.00 pm/ UG 1.00 TS
Correct Answer :-3.00 pm/ GIUg< 3.00 TS
6)

Question Stimulus :-

Complete the series choosing the missing letter/s: / faqW 31&R AP YGaT HI [T IO : ab
_bca _ _ab _

® cabcc

® bccca

® bccac

® cabcb
Correct Answer :-cabcc
7)
Question Stimulus :-

A person walks a certain distance and ride back taking a total time of 37 minutes. He could walk both ways in 55 minutes.

How long would it take him to ride both ways?/ Th Gcrf%raﬁw ﬁ@’d@?ﬁ; TeH 3R Y JaR 9§ 3 H 37
e o1 oa 9aa arar 81 af¢ 98 55 e & a1 @R 3t g8t &1 Yea Ta &% 99 X gHar g1 a9l Sl RE A
IR | M-S # ITS| fHa-T I9g aam?

e 19 min/ 19 fiAE

* 92 min/ 92 fiFE

* 40 min/ 40 A

e 72min/ 72T

Correct Answer :-19 min/ 19 9T

8)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / % 23 10 IR vl & A 7 A T vd & i IHH $I9 91 v T8I 82

(20)



Kitson, Ray & Horton, Dave
P.O. Box 1549
Buena Vista, Colorado 81211-1549

(719) 395-2409

(i) Kitson, Ray & Horton, Dave
P.O. Box 1549
Buena Vista, Colorado 81211-1549

(719) 395-2409

(ii) Kitson, Ray & Horton, Dave
P.O. Box 1549
Buena Vista, Colarado 81211-1549

(719) 395-2409

(iii) Kitson, Ray & Horton, Dave
P.O. Box 1549
Buena Vista, Colorado 81211-1549

(719) 395-2409

(iv) Kitson, Ray & Horton, Dave
P.O. Box 1549
Buena Vista, Colorado 81211-1549

(719) 395-2409

(21)



Correct Answer :-ii

9)
Question Stimulus :-

If PLASTIC is coded as CITSALP, how will REVIVER be coded as? / af& PLASTIC &1 CITSALP ¥ Sifed forar rar ©,
Tl REVIVER BT B Difed fHar WIRRM?

® REVIVER
® RIVER
® VIRVIER
® VERVIER
Correct Answer :-REVIVER
10)

Question Stimulus :-

Complete the series choosing the missing number: / AW TBAT FADHR 9GAT BT GRT B :

10,17,24,31,38,

* 43

® 45

* 44

® 46
Correct Answer :-45
11)

Question Stimulus :-

(17x9)-(100x16)/5+(9x7)/9+(520/13)=?
* .120
° .130

* -140

(22)



e .150
Correct Answer :--120
12)

Question Stimulus :-

The mean proportional between 0.008 and 0.002 / 0.008 3fR 0.002 ¥ & &1 HeATIUN §
* 0.4
* 0.0004
* 0.004
* 0.04
Correct Answer :-0.004
13)

Question Stimulus :-

The depreciation of an article is 20%. The value of the article after three years will be less
by/ T® o 3! B | 20% $t TR1ge At 31 617 19 91¢ 39 avg &1 SAa fHa- uliza &9 8t
SR

* 45%

® 48.8%

® 51.2%

® 60%
Correct Answer :-51.2%
14)

Question Stimulus :-

The series given below contains a sequence of a_lpl:napets, numbers and symbols. Ider!tify
the incorrect combination: / 1R € TS STaT 3ieR} T TBATHT BT SIHH WA Hdl 8] Tad WA=
LECIEDI|

(i) acbv5s210&vx
(ii) acbv5s210&vx

(iii) acbv5s210&wx

(23)



(iv) acbv5s210&vx

® i

® i

® v
Correct Answer :-iii
15)

Question Stimulus :-

If A is written as 2, B as 4 and C as 6, then in the same encryption what does ‘12 10 10 8’

g:nnd for? / Ufec A & 2 MG ST 8, B 91 4 3R C B 6, a1 Il T=HU== # '12 10 10 8’ &7 3 &1
?

e DEEP
e DOOR
e DEER
* FEED
Correct Answer :-FEED

16)
Question Stimulus :-

A fair die is thrown. What is the probability of getting a prime number? / T g e ﬁ'qT\_rI'lﬁT%I YT 3P
3T BT UG T 52

* 1/3

° 1/a

° 1/2

°* 2/3
Correct Answer :-1/2
17)
Question Stimulus :-

(24)



Prakash buys oranges for 3 rupees & equal number at 2 rupees. He mixes them & sells at 5 for 2 rupees.

Find his gain or loss percent. / UPTX 9 3 TUY & ¥ @RI 3R Ia-11 & &I # 2 Tuu & Y IO w2
394 ST I8 P TRl D FUArT 3T 5 Ha¥ 2 T 99 U1 IHST ATH AT eI UFa=rd udr B |

° 4%
* 3%
® 2%
* 1%
Correct Answer :-4%

18)

Question Stimulus :-

A and B together can complete a work in 24 days. B alone can complete it in 30 days. If A does the work only for half a
day daily, then in how many days A and B together will complete the work? / A 3R By A Uh dbTH P 24 fai

R BT TP &1 B AP 39 30 &A1 & W1 H Tpar g1 afe A ST Faa 3 9 F o w1 FRar €, @t
A 3R B THHY w1 &1 fbaq &1 & 1 +3a2

1
e 26 7 days/ 26 ° R+
2 2
3 3

26 ~days / 26 = fed

1

:
26 < days / 26 - f&q

|

26 days / 26 f&=1

| bk
| b

Correct Answer :-26 ~ days / 26 ~ f&

19)

Question Stimulus :-
The average of first 10 multiples of 5 is? / 5 & Ugd 10 SgIUN &7 3d 82

e 275
e 27

* 28

(25)



e 285
Correct Answer :-27.5
20)

Question Stimulus :-

In a sugar solution of 4 liters containing 25% sugar, one liter water is added. The percentage of sugar in the new solution is/

%Tﬁ?ﬂam%ﬁwﬁ,mﬁzswom%,wﬁﬁawﬁﬁWWIWﬁwﬁwk{rﬁm

® 25%

® 20%

® 30%

® 15%
Correct Answer :-20%
21)

Question Stimulus :-

If 8514 is encrypted as ‘HEAD’, 3945 as ‘RIDE’ and 057 as ‘BEG’, what does the word
‘GRADE’ stands for? / 4f¢ 8514 %I ‘HEAD’ ¥ TA$Y a1 741 |, 3945 FI ‘RIDE’ ¥ 3fR 057 &I
‘BEG’ ¥, 99 ‘GRADE’ TS T Jdldl 87

e 13754

e 73145

* 41357

e 14735
Correct Answer :-73145
22)
Question Stimulus :-

The HCF and LCM of two number; are .25 and 1?50 respectively. If one of the numpers is
175, find the other number / &I J@I3f % HCF T4 LCM HHIM: 25 3R 1750 & afc T I=I 175

&, A G WS 1 oY
e 250

* 200
(26)



e 240

e 260
Correct Answer :-250
23)

Question Stimulus :-

A fruit seller buys 200 apples for Rs. 80 & sells it for Rs. 100. What is his profit Percent? / T vl faspar 80
FUA H 200 AT TeaT g 3R 100 U & SFa1 31 IHD ATH BT Ufa=ra F1 82

® 30%

® 35%

® 25%

® None of thesel%':l'ef I ﬁ%‘ qﬁ
Correct Answer :-25%

24)

Question Stimulus :-

In a certain coded language, MORALE is coded as 296137 and CHARCOAL is coded as 45164913. What is the code for COACH
in the code? / TPt W AiPTa® UT &, MORALE BT B 296137 & MR CHARCOAL PT HIS 45164913 & 39
®1s ¥ coacH & I w11 Pl 72

® 42864
® 39184
® 49145
® 38731

Correct Answer :-49145

25)

Question Stimulus :-

L

| Lo
| —
I | w2
|
b |
Ly | L
b | L2
b | =

Simplify: 8-{ 2 +(° - %))/ wa PR 8-{
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La | b L | b L | b

| k2

o e

Correct Answer :-6 ~

26)

Question Stimulus :-

In the following question, one term in the number series is wrong. Find out the wrong
term. / 9 Uy ¥, G©I 49T A TP UG TAd & TAd UG I BIOA|

3,15,45,225,675,3370
® 3370
® 675
® 15
® 45

Correct Answer :-3370

27)

Question Stimulus :-

Complete the following sequence of figures. / Wﬁl’cﬁ & g w0 3 R B

M [
v ?

.

(28)



[
<]
[ ]
A
[»
[ ]
[
Fa

Correct Answer :-

28)
Question Stimulus :-

Three dice are thrown simultaneously. What is the probability of getting a sum of 17? / 3 WWW%{&W‘TW%I T
THTGAT & P13 URI UR F ST 17 3A?

* 1/72

* 1/36

* 1/216

* 1/18
Correct Answer :-1/72
29)

Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁ?:[lﬂ &R gAdR SRae BI T aﬂﬁnz : ab _aba_bbaaa _
b_aa_bb

® aabba
® aabbb
® aabab

® babaa

(29)



Correct Answer :-aabab

30)
Question Stimulus :-

How many triangles are there in the following figure? / 5% efa & fFaq Bwior 82

N

e 7
e 8
e 9
e 10
Correct Answer :-8

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-
The speeds of three cars are in the ratio of 5: 4: 6. The ratio between the time taken by them to travel the same
distance is in the ratio: / T WICIBRI Pt A BT SJUTT 5:4:6 81 ITP GIRT THM g3l a7 T & T
Y BT U © :

® 10:12:15

® 12:15:10

® 6:4:5

® 5:4:6

Correct Answer :-12:15:10

2)

(30)



Question Stimulus :-

When we place our palm in front of the moving ball, the speed of the ball / ERGI E'&F ﬂT:." & HTHA o9 TH 3g=T
Ul ¥@d €, a1 Tig BT 9w

Increases / dedl %

Decreases / 9cdl %

® Becomes Zero / [ I SITdT ?

Neither increases nor decreases / T d 9gaig 3R T g gcarg
Correct Answer :-Decreases / Ucdl @
3)

Question Stimulus :-

Which of the following statements is NOT correct? /ﬁﬂ; T q B4 A Y '\‘Iﬁ T-I'E?r %:?
® All green plants can prepare their own food / gt 3% WY U WIS W 91 9 %
® Most animals are autotrophs / SIfYP R TR W’lﬂ'ﬁﬂ 3-1% %’

® Carbon di oxide is required for photosynthesis / UPIRI TRAYUT & o praq S'l's‘&r‘fws's G|
3TaRg T Bl 8

® Oxygen is liberated during photosynthesis / UDIRI TTAYUT & SR SfTRiw Hpad!

Correct Answer :-Most animals are autotrophs / SfYPHaR SR U} T;v;ﬁf %

4)
Question Stimulus :-

International Biodiversity day is being observed on / m@“q Sg-fafaear ﬁ?m 'Y ﬁ? HATT STl %
e 23'9March / 23 HTH
o 215 April / 21 30
e 2" May / 22 HS
e 15'December / 1 fETTR
Correct Answer :-22"Y May / 22 HS

5)

(31)



Question Stimulus :-

When a beam of light falls on a convex lens it / STd YRIRI 3| Udh oo Soa a9 W Rt %, dd dg :
® Converges / firariva gt @
® Diverges / AT Biel 8
® Passes through / 'ﬂTrRT'ﬂ' %

® Scatters / Il?ﬁ'uf'sﬁ?ﬁ %
Correct Answer :=-Converges / SfrTid gt @

6)
Question Stimulus :-

Dried sludge is used / g&T 3TYSH BT T IdT &
® In waste water treatment / YaIRIY 9T & IUAR &
* As manure /T¢ & &U H
e As food / WA & U H
® To kill microorganisms in soil / JaT & JEASIIT! B ARA & fow
Correct Answer :-As manure / @I¢ & & §
7)
Question Stimulus :-

The vegetative parts of the plants are / el & g YT %
® Roots / \_rlé'
® Root, stem and leaves / SIS, THI 3R ufri

® Stem and branches / T 3R W

® Flowers /Y&

Correct Answer :-Root, stem and leaves / SIS, T 3R gl

8)

Question Stimulus :-

(32)



A whale swimming in the ocean illustrates / Y% # awet E's: Tdh %ﬁ foraeT 3qle}ul %
® Sliding friction / Tt gefur
® Rolling friction / Sea gy
® Fluid friction / XA Tyur
® Static friction / Rifqe g
Correct Answer :-Fluid friction / TR THUT

9)

Question Stimulus :-

19° +271° 19° +271°
Evaluate 197 —19x 21+ 212 y 197 —19x 214 212 o1 R
* 30
° 40
® 49
* 51

Correct Answer :-40

10)

Question Stimulus :-

1t x=sfina 0L ap 6 a V) aprn
% 72£
® 72
® 216
. 36"

f3

Correct Answer :-72
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11)
Question Stimulus :-

Following table shows the per capita expenditure on healthcare (in US Dollars) in some countries from year 1960 to
2000. Answer the following questions using the information provided. / frg arferer # 1960 | 2000 d% PSS
=N B ufa afdd & Wy R T (ST STeR ®) &7 UdT gadT g1 SUest HRIg T3 SATHIRI BT ST
H o gardl &1 sare ¢

Country/ 9r 1960 1970 1980 1990 2000
Australia/

st ferm 493 545 684 994 1300
Austria /

3TRegm 307 423 762 916 1344
Belgium/dTesT

il 255 348 627 953 1340
Canadal s=TsT 221 489 770 1251 1714
Czech

Republic/ =&

e 223 289 387 441 553

Denmark

T 541 736 943 1275 1554
Finland /

BEEE 258 372 584 954 1414
France! IR 269 406 699 1110 1555
Germany /

STHAT 461 666 955 1375 1729
Greece! T 195 310 464 694 838

For which country the average of the healthcare expenditure from 1960-2000 is the Highest? /ﬁ)_\q a'QT ¥ 1960-

2000 I WA T BT ad Ja4 ISl 22
® Canada/ PHTSI

® Denmark/ @FITI'I%

(34)



® France / Wi

¢ Germany / STHAT

Correct Answer :-Germany / STH

12)
Question Stimulus :-

Following table shows the per capita expenditure on healthcare (in US Dollars) in some countries from year 1960 to
2000. Answer the following questions using the information provided. / g arferer # 1960 I 2000 dF P
=0 &t ufy afed & W R @ (MRS STer §) 3T udl IadT &1 SUAS BRTS TS STTHRT BT STIRT
R o wara o1 saE g1

Country/ 3T 1960 1970 1980 1990 2000
Australiaf

3tefer 493 545 684 994 1300
Austria /

HIRgam 307 423 762 916 1344
Belgium/aTesTa

i 255 348 627 953 1340
Canada/ &-Ts] 221 489 770 1251 1714
Czech

Republic/ =&

rafeera 223 289 387 441 553

Denmark

leonicy 541 736 943 1275 1554
Finland /

thefels 258 372 584 954 1414
France! I 269 406 699 1110 1555
Germany /

ST 461 666 955 1375 1729
Greece/ AT 195 310 464 694 838
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For which country the average of the healthcare expenditure from 1960-2000 is the lowest? / foa a'QT & m
1960-2000 TF ¥ WA W T T TIA $H 8?2

* Austria / fTRcar

* Belgium / SfraH

e Finland / iFTdS

* Greece /W
Correct Answer :-Greece / ¥
13)

Question Stimulus :-

When a commodity is sold for Rs. 34, there is a loss of 15%. What is the cost price of the

commodity? / 59 TP a5 HI 34 Ul # ST W61 8, df 15% P ST Sl 81 g BT P-4y fra-r g2
e 50
e 40
° 60
° 70
Correct Answer :-40
14)

Question Stimulus :-

Why are electric plugs and switches made of the polymer- Bakelite ? / fagaa @
3R f&r=if @71 fFrafor 9ga® P ase & wf fvar s 82

® Because Bakelite is a poor conductor of electricity. / RN am ﬁgﬂ?—r DI WRTI dTeih %I

® Because Bakelite can be softened easily on heating. / Fife T HH W am ST | HATdH
fopar o wepar 71

® Because Bakelite can be remoulded and reused. /a:ﬂ% am 3 Y I erar I Jhdr % 3T
SUGHT {5 &1 FHaT 71

® Because Bakelite is very strong and hard to break. /ﬂ’\‘ﬁ'ﬁ? am qdgd Holdd sﬁ % 3R ST/
81 gedl|
Correct Answer :-Because Bakelite is a poor conductor of electricity. /?ﬂﬂ'ﬁ? ém ﬁg’lﬁ' CaRENE
TP B
(36)



15)
Question Stimulus :-

Trees are important because / frs ﬂ?ﬁ"{uf Eﬁﬁ % RifPp

® They maintain the oxygen —carbon dioxide balance in nature / q Wﬁd T SRS, B mm
BT YTHIS 1Y IE@d §

* They cause soil erosion / d Hal UG & HRUT &
® They reduce the level of water table / 3 TAdd P W FH PId %

® They increase greenhouse effect /% ‘/'ﬂT'TS'IG'H YHTd A q% A %

Correct Answer :-They maintain the oxygen —carbon dioxide balance in nature / QTI%T H SfTeRiTeH,
P STASATRITSS BT JTHSY F9TE T&d &

16)

Question Stimulus :-

In the given figure, DE || BC. If AD = 1.7 cm, AB = 6.8 cm and AC = 9 cm, find AE. / & Tt
3efd § DE || BC 8] afe AD = 1.7 94, AB = 6.8 ¥#l. 7 AC = 9 T, df AE F1d F|

1.7 cm / 1.7 9HL.

3.4cm/3.4 T,

4.5 cm / 4.5 T4,

2.25 cm / 2.25 THT.

Correct Answer :-2.25 cm / 2.25 9HI.

17)

Question Stimulus :-

The moon’s period of revolution as well as of rotation is / TG BT ‘E[Uh 3R ufvspaor %
e 30days / 30 f&

(37)



e ladays / 14 ﬁ"'-l'

e 273days / 27.3 ﬁq

® 24days / 24 fea
Correct Answer :-27.3 days / 27.3 fe=
18)

Question Stimulus :-

Following table shows the per capita expenditure on healthcare (in US Dollars) in some countries from year 1960 to
2000. Answer the following questions using the information provided. / g arfer®T # 1960 ¥ 2000 TF 333
<=0 FI gfa e & WY W T (SWRID! STeR W) FT U1 TadT ¢ 1 IUASH RIS 75 AFTBRY BT STGRT
o 5 Tarel o1 saa |

(38)



Country/ Z9r 1960 1970 1980 1890 2000
Australial

3t fer 493 545 684 994 1300
Austria f

3ffegam 307 423 762 916 1344
Belgium/dTes

q 255 348 627 953 1340
Canada/ teTsT 221 489 770 1251 1714
Czech

Republic/ =&

FRIEECE 223 289 387 441 553

Denmark

leoricy 541 736 943 1275 1554
Finland /

heTels 258 372 584 954 1414
France/ Tt 269 406 699 1110 1555
Germany /

STHAT 461 666 955 1375 1729
Greece/ & 185 310 464 694 838

Which country showed the highest percentage increase in the expenditure on healthcare from 1960-2000? / fora a'slT

T 1960-2000 § WA WR B aral @4 6 999 e ufa=ra s ¢t 15?2
e Belgium / SfraH
® Canada / TS
® Finland / P TdS
® France /WPTH

Correct Answer :-Canada / ®HISI

19)
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Question Stimulus :-

Following table shows the per capita expenditure on healthcare (in US Dollars) in some countries from year 1960 to
2000. Answer the following questions using the information provided. / forg arfereT § 1960 A 2000 dF g3l
3= #t ufe i & WY R @d (SWRD! SR H) BT IdT IadT 81 SUds RIS TS ATHIRI BT ST
F 1 Jaral &1 sare S|

Country/ Zar 1960 1970 1980 1990 2000
Australial

g ferm 493 545 684 994 1300
Austria /

Hffegar 307 423 762 916 1344
Belgium/dTesT

Gl 255 348 627 953 1340
Canada/ cheAlsT 221 480 770 1251 1714
Czech

Republic/ <t

ERIESER 223 289 387 441 553

Denmark

leoricy 541 736 943 1275 1554
Finland /

hetels 258 372 584 954 1414
France/ TIT 269 406 699 1110 1555
Germany f

ST 461 666 955 1375 1729
Greece/ #TET 195 310 464 694 838

Which country showed the lowest percentage increase in the expenditure on healthcare from 1960-2000? / ﬁ)_\‘[ a'QT

% 1960-2000 | WA W g1 ard T4 & a4 $H ufaxe gia ¢t 182
* Austria / 31T
® Czech Republic / 9% f¥ufer®
* Denmark / STHTSH
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® Greece / ikl
Correct Answer :-Czech Republic / 9% fYuf®i®
20)

Question Stimulus :-

Which of the following statements is false? / =19 H q B9 9T YT 3T 82
®* Diameter of a circle is twice its radius / 9d &7 O™ Ig@T B &1 aﬁ'ﬂ:ﬂ ﬁ'clT%

¢ Diameter is a chord of a circle, passing through the centre of the circle / Wwﬁa's'

SiiaT 3 o f5 99 & &g A TR [ordl §
e Diameter of a circle is half of its radius / gd ®T T WG| AT BT 34T TIaT 8

® A diameter divides the circle to two equal halves / & qd $i o Iu= Srf=i | v
HT 3

Correct Answer :-Diameter of a circle is half of its radius / Jd ®T IR 39D AT BT 3MLUT

glaT 8

21)
Question Stimulus :-

What causes indigestion in human beings? /qﬂuﬁ ¥ g frad SR _ﬁﬁ_clT %?
® Lack of physical exercise. /'ﬂ]'l'\ﬁﬁﬂ? TITH B FHT A1
® Due to over eating. / 3ife @M= Al
® Formation of excess base in the stomach. /ﬁE' o Irarfires RSP & fmfor 91
® Formation of excess acid in the stomach. / U H SrcTiY® 3 & fAaior I

Correct Answer :-Formation of excess acid in the stomach. /aE' ¥ ererfier et & fRwfor I

22)
Question Stimulus :-

Find the area of a triangle whose vertices are (1, -1), (-4, 6) and (-3, -5). / 3H Bt &1 éﬂm Td Eﬂ'ﬁl’&’
o =i (1, -1), (4, 6) 3R (3, -5) B

® 12 square units / 12 CL Eﬁﬂ_&;
® 48 square units / 48 Tt 33’71%

(41)



® 24 square units / 24 Co gfﬂg
® 96 square units / 96 T sm%

Correct Answer :-24 square units / 24 T SPHIS

23)
Question Stimulus :-

If your mother has curly hair you might also end up with curly hair, is due to unit of inheritance in living organism,
which controls the transfer of hereditary characteristic from parents to offsprings.name the unit / gfe ATyt ATl &

HERTA 9T € a1 MU & H TERTS 919 81 T&od &, TE Siifad oitd A 9xIfd & THIT F SR gidl §, o
AT et @ FaE # il faRivarel & wrHiaRur o i s 81 39 THhiR 1 A @

® Chromosomes / TURGA

* Ribonucleic acid / ITSAIfFAD T

* Deoxyribonucleic acid / TS STRIRTSII_I[da® 37

« Genes / G|

Correct Answer :-Genes / dXI7]

24)

Question Stimulus :-

) "8
[gt “47,
If © = 90°, find ' JafRe =900, 7/ @
]
° 1
e 0
® js undefined / Gmlﬂﬁﬁ%

IE)
Correct Answer :-

25)

Question Stimulus :-

(42)



Following table shows the per capita expenditure on healthcare (in US Dollars) in some countries from year 1960 to
2000. Answer the following questions using the information provided. / g a1fer®T # 1960 | 2000 I PO
=0 Pt ufy Safed & W R T (SIS STeR §) $T UdT IadT &1 SUAS BRTS TS JATTPRI BT STIRT
o 5 Faral &1 saE |

Country/ 8 1960 1970 1980 1990 2000
Australia/

Frre ferm 493 545 684 994 1300
Austria f

g 307 423 762 916 1344
Belgium/aToaTa

i 255 348 627 953 1340
Canada/ TSl 221 489 770 1251 1714
Czech

Republic/ T

FRIEEER 223 289 387 441 553

Denmark

loricy 541 736 943 1275 1554
Finland f

hetels 258 372 584 954 1414
France! HI¥ 268 406 699 1110 1555
Germany /

SEEl 461 666 955 1375 1729
Greece! 31T 195 310 464 694 838

Which country did not show consistent increase in the expenditure on healthcare over the period?/ &g a'-'lT ¥ rafy

T WA W g1 9T T4 § WOR gis T8l [e@rs?
® Austria / 3TRcaT
e Canada / FITST
® Finland / fip-Tcis
* Greece /W
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Correct Answer :-finland / f0FTeiS

26)
Question Stimulus :-

Which of the following is not true when milk changes into curds? / SId g Ik gfvafda g % GIRCE K]
DI AT T g1 gran?

® |ts state is changed from liquid to semi- solid. / ITP! aRT g7 ¥ 3l 319 H ufvafada 'E?f Gl %
® It changes in colour. / IT®T I IGd SITdT %

® |t changes in taste. / dg Hdlq o dqd SITdT %

® The change can be reversed. / tlﬁﬂ?f:[ Iopud fHaT &1 dodr %

Correct Answer :-The change can be reversed. / uf¥ad= Scpiad fear &1 godr &

27)
Question Stimulus :-

An example for a unisexual flower / Wﬁ'ﬁﬁ o D JaleXul % -
® Mustard / I
® Papaya / qdtar
® Rose / JdId
® Hibiscus / 3Sgd

Correct Answer :-Papaya / GUtdl

28)

Question Stimulus :-

If each edge of a cube is doubled, then its volume ./ ‘T% U aﬂﬁaﬁ ﬁ)—"iﬁ ) Eﬂ'ﬂT'IT DY QTIT Wy, @
IHBT 3G 8l SITEI

® jsdoubled / ?ﬂ'ﬂ:ﬂ

® becomes 4 times / 4 YT
® becomes 6 times / 6 T[T

® becomes 8 times / 8 AT

(44)



Correct Answer :-becomes 8 times / 8 T[T

29)
Question Stimulus :-

In man, nasal passage is lined with wet mucous membrane and hair. Give reason. / 3'"3113[ ﬁ, ATRIPT A1 99

SrereHT f3reett ofiR STal & AT WA T[T 71 THDBT BRI ST
® Hair covers all parts of our body / IT& BHTY YRR & W U HT TR FA &
® Both of them together, regulate temperature / d GIFl WY FU |, ATGHTH H! AT = &
® Breathed in air, is filtered and moistened / aTg ¥ & T, Frwdfed ofik 7+ g 8t ot &

® Entry to the nasal passage is controlled / FITHTGIY ant & vamn Frifa 3.1?“ %

Correct Answer :-Breathed in air, is filtered and moistened / 919 # &} 919, fAifed ofiv =it gaa gt
Tt 8

30)

Question Stimulus :-
Mohan picked a natural number and multiplied it by 3. Then number cannot be the result of his
multiplication. / WIg" < T WIHTa®d I gl T 39 3 ¥ on fhar| a9 d= AP TUH
T URoH 781 gf Wt o

® 3987

® 3968

* 3786

® 3789

Correct Answer :-3968

(45)



